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238 TeTAL DesTanCe My Notes Sucked. Phoenix doesn't!
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My notes on this one sucked. Good one to ask about, Phoenix. Very embarrassing.
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7. [-/1 Points] DETAILS SCALCS 2.8.015.

March 03, 2025

PRACTICE ANOTHER

A street light is mounted at the top of a 15-ft-tall pole. A man 6 ft tall walks away from the pole with a speed of 7 ft/s along
a straight path. How fast is the tip of his shadow moving when he is 35 ft from the pole?
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l. [-/1 Points] DETAILS SCALCS 2.8.026.MlI. PRACTICE ANOTHER

A trough is 10 ft long and its ends have the shape of isosceles triangles that are 5 ft across at the top and have a height of

1 ft. If the trough is being filled with water at a rate of 15 ft3/min, how fast is the water level rising when the water is 9

inches deep?
L.+ V= Volume of waker as -Qa.c"pk
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A 10-foot ladder is (was) resting against a wall. It starts sliding out of control!
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